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1 Introduction

In the last meeting, the discussion on the size of L field has not been concluded but the possible options have been narrow downed to two. In [1], the MAC sub-header formats for these two options are described. In this contribution, we discuss the leftover issues related to L field, including the size of L field. 
2 Discussion
In LTE, the L field indicates the length of the corresponding MAC SDU or variable-sized MAC control element in bytes. There is one L field per MAC PDU subheader except for the last subheader and subheaders corresponding to fixed-sized MAC control elements. The size of the L field is indicated by the F field and F2 field and thus the size of L field can be 7 bits or 15 bits or 17bits.

We need to note that all zero values for L field  was not defined even in LTE. Actually, all zero values for L field would be regarded as 0 byte of MAC SDU but there would be no use case for this practically. Therefore, we propose to clarify it in NR.

Proposal 1. L field indicates the length of the corresponding MAC SDU in bytes.

Proposal 2. All zero values for L field mean 0 byte of MAC SDU.

Proposal 3.  UE is not expected to receive MAC subheader with all zero values for L field.  

As for the size of L field, two options are on the table:
Option 1: L field is 7 bits or 15 bits as shown in Figure 1.
Option 2 : L field is 8 bits or 16 bits as shown in Figure 2.


[image: image1.emf]R R LCID

L F

R R LCID

L F

L


Figure 1. 7 bit or 15 bit L field
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Figure 2. 8 bit or 16 bit L field
The 7 bit L field can cover from 0 byte to 127 bytes and 15 bit L field can cover beyond that while the 8 bit L field can cover from 0 byte to 255 bytes and 16 bit L field can cover beyond that. We need to note that 128-255 byte packets comprise a non-trivial part of internet traffic, e.g. VoIP service, which require 15 bit L field for Option 1 and 8 bit L field for Option 2. In this case, we can save one byte  and the overhead can be analyzed as shown in Table 1(the size of L field versus the size of MAC SDU):
	
	128 byte MAC SDU
	255 byte MAC SDU

	Option1 (3byte)
	2.34%
	1.17%

	Option 2 (2byte)
	1.56%
	0.78%


Table 1. Overhead analysis
As the above, Option 2 would have non-trivial overhead reduction and thus we prefer Option 2 unless any reasonable motivation for Option 1 is posed. 

Proposal 4. The size of L field is 8 bits or 16 bits. 

3 Conclusion

In this contribution, we provide our view on the leftover issues on L field and ask RAN2 to discuss the following proposals:
Proposal 1. L field indicates the length of the corresponding MAC SDU in bytes.

Proposal 2. All zero values for L field mean 0 byte of MAC SDU.

Proposal 3.  UE is not expected to receive MAC subheader with all zero values for L field.  
Proposal 4. The size of L field is 8 bits or 16 bits. 

Annex B: Document references
[1] R2-1707492 : “MAC subheader comeback,” Ericsson
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